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Step 1 : Problem statement
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Step 2 : Data and Information Collection
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Step 2 : Data and Information Collection
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Step 3 : Identification/Definition of Design Variables
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Step 4 : Identification of Criterion to Be Optimize




Step 4 : Identification of Criterion to Be Optimize

« Total Dissatisfaction Function
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Step 5 : Identification of Constraints
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% Solved by the EXCEL
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% Comparison with solution & real time

Variable initial 'solution | real time

x_1 60 57 50
X_2 40 32 35
X_3 42 48 30
X_4 30 25 30

2X_| 172 162 145

r : 1
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% Final goals
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« Thank you!




